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Laws and mathematical relations

1. Momentum of a body (P)

P=m.v Kg.m/s

Where (m) its mass and (V) its velocity

2.Force (F)
_ AP
At Av Where (m) is the mass of the body and (a) is the
F=m At acceleration by which the body moves.
F=m.a N

3. Weight of the body (Fy)

F,=m.g N

Where (m) is the mass of the body and (g) is the
acceleration due to gravity.

4. Centripetal acceleration (ac)

a = —
¢ r

Where (v) is the tangential velocity and (r) is the
radius of the circular path.

5. The tangenti

al velocity of a body moves in a circular path (v)

2Ttr
T

VvV =

Where (r) is the radius of the circular path and (T)
is the periodic time.

6. The centripetal force acting on a body moves in a circular

path (Fc)
F. = m.a, Where (m) is the mass of the body, (v) is the
. v? tangential velocity and (r) is the radius of the
.= m.—

I

circular path.




